1.
(a)[image: image1.png]21.0942 + 1.137362 — 11840122, R* = .81434





(b) Since the plot appears to be a straight line with slope close to 1 and high R2 value, the quadratic regression function appears to be a good fit here. 

(c)  [image: image2.png]Hy: 31 = 011 =0, Hy: not all 5, =0 (k= 1.11). MSR = 523.133, MSE =
9.9392, F* = 523.133/9.9392 = 52.6333,F(.99;2,24) = 5.6136. If F* < 5.6136

conclude Hy, otherwise H,. Conclude H,. P-value = 0+




(d) 

[image: image3.png]Hy: rfu =0, H,: pn Cos{by} = .02347, tF = —.118401/.02347 = —5.04478,
1.9 24) =2 /0604 It \7‘ | < 2.79694 conc lu(l(‘ Hy. otherwise H,. Conclude H,.
{lt(‘nmtlwl\ ?|r) = 252.989 S'A,' x,a?) = 238541, F* = (252.980/1) +
(238.541/24) 4536, F(.99:1,24) = 7. It F* < 7.82287 conclude H,.
otherwise H,. (‘um-lu(l(‘ H,.





(e) 

       [image: image4.png]= —26.3254 + 4.87357X — .118401.X?




2.

(a)
refer to page 230 of textbook ALSM for the formula (6.61) for Working-Hotelling simultaneous confidence region  and the formula (6.62) for Bonferroni simultaneous confidence region. 
In this example, 
Working-Hotelling : F(.99; 3, 24)=4.72, therefore W=
[image: image5.wmf]7622
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Bonferroni: B=t(0.99833, 24)=3.25756

Therefore, Bonferroni is the more efficient simultaneous estimation procedure for this particular example. 
X

10: 20.624873(3.25756*1.895378                     14.450564(E{Yh}(26.799181

15: 11.508872(3.25756*4.5684127                    -3.373007(E{Yh}(26.390752

20: -3.527191(3.25756*8.5028604                      -31.22577(E{Yh}(24.17139
(b)
s{pred}=5.5506391, t(.995,24)=2.7969395, 
11.508872(2.7969395(5.5506391) (-4.015929( Yh(new)(27.033674

4. 
[image: image6.png]Hy: E{Y} = By + B + Bua?, Hy: E{Y'} # By 4 Bir 4 B0’ MSLF = 6.65396,
MSPE = 132244, F* = 6.65396/13.2244 = 0.50316, F(.99;12,12) = 4.15526. If
F* < 4.15526 conclude Hy. otherwise H,. Conclude H,.





5.

[image: image7.png]a. Y =27.150 4 5.925X, + 7.875X, — 500X, X,

b. Hy: 3 =0, Hi: 03 # 0. MSR(X;X3]X, 2
F* = 20.0000/6.1917 = 3.23, F(.95;1,12) = 4 75. 1
otherwise H,. Conclude H,.

).0000, MSE = 6.1917,
F* < 4.75 conclude Hy,





6.  

[image: image8.png]b, Y = —126.905 4 2.7759.X, 4 76.0215X, — 1.10748 X, X,.

Hy: 3= 33 =0, H, : not both 3, = 0 and 33 = 0. SSR(X2, X;X5| Xy) = 566.15,
SSE(Xy, X2, X1 X)) = 909.105, F* = (369.85/2) + (909.105/60) = 12.2049,
F(.95:2.60) = 3.15041. If F* < 3.15041 conclude H,. otherwise H,. Conclude
H,.

e Y =—126.9052 + 2.7759X, for noncorner lots

Y = —50.8836 + 1.6684X, for corner lots
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